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( International Economics )

" Full Marks : 80
. Time: 3 hours

The ﬁgures in the margin indicate: full marks
for the questions:. .~

Answer eith'er in English or in Assamese

1. Answer the following as dlrected B 1#10:10
oo IR fotER Tes o :

{a) . Why do countries engage in international
trade?

mﬂ{iww@ﬂmﬁwwﬁww@@ﬂ?

(p) Who said that, “International trade is
but a special case of mter-local or inter-
regional trade”?

‘e A LR AEEEINT TN B
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(2)

() What key assumption does the
Rieard.ian model make about labour
as a factor of production?

_MW%QWWW"IWW
Wmmﬁ? ST

d) What is. factor endowment?
%wrm SIB'T ﬁs ?

(e) The demand for forelgn exchange in a
country arises from import/export of

goods.
( Choose the correct answer )

™ 93wo R YR oW TR-IaR
LG RV EERSIRCCE e ST
( % Teghr S Tferear )

() What is protectiohism?
TR 2

(g) -State any one cause of fluctuation in
foreign exchange rate.

mmwmmﬁ@mm
IR fon 1

(h) In which year was the Bretton Woods
_system estabhshed?

@hwﬁaﬁ @MWMWW?
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(i) -

0

2. Answer the following questions :

(3)

Give any one argument in favour: of
fixed foreign exchange rate.

R bR R 7 e bt 3R fo

State one objective of international

- macroeconomic policy.

ww@aw&zﬁw@i@mmw
901

2x5=10

(@)

)

()

(d)

A25/8571

I

What does the factor immobility refer in

‘ regards to mternatlona.l trade? :

WA TR 2T %mwm W%Tfi 15
o ?
What is Leontief paradox?
e Sigdn! Re?

Write two features of Gold Standard.
IR e 51 GRS for |

' Wnte two arguments in favour of free

trade.
q@mﬁwmﬁnﬁ;ﬁmy
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(e}

o T ) o o e P
(@)

@)
V_\vtypesoftanff

(c)

@

.Describe five

(4)

~Write two. causes of the Global Financial
Crisis, 2008. .

ioovmﬁmﬁrﬁ@amﬁv@mqﬁm

Answer any four of the following questions :

5%4=20

State the importance of International
Economics as a branch of Economics,

weRerm dﬁ'ﬂﬁﬂ‘ﬁ$ﬁﬂ'?ﬂa“ﬂ§m'Ewﬁm=?
&% fos |

What is tanff? Explam the different
1+4=5

% 1% 7 % RS ereromyz o <1
What will happen to the Heckscher-

Ohlin theorem if factor intensity
reversal takes place? Explain.

T I Bger 2R T, @ @ER-WRH
SGOR R 292 I

differences between
international and internal trade.

RPN e wreEda AR Siohl e
T

( Continued )

(5)

(e)~ Explain ~the different stages of 'the

4. Answer any four of the followmg questlons

product: cycle theory of .. mtemaﬁonal

" trade.

wm@wﬁﬁn RIS tmﬂmw T emzma Rfew
R TR0

: What is financial globahzatmn? Discuss

its benefits and risks. 1+4=5

_W%W%vmqﬁmwﬁm

HICEAT ¥4 |

| 10x4=40

'V@ﬁaamcviiﬁiaﬂansﬁﬁ#a%@aﬁ#m:

(a)

(b)

(c)

Explain Ricardian - theory of comparatlve
cost advantage.

ﬁnmﬂﬁagFFm§$$amrqﬁqﬁ"—gdnanwnaﬁnl

Explain the Heckscher-Ohhn theorem
of international trade through price .
criterion.

- o ?mﬁqﬂgm"mFNmﬁ g 0
S{F{ﬁ‘eﬁ (price cntenon) TR ;M 31

Discuss the technological gap model of -
international trade.

. RN AR aﬂ“f%ma R
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(d)

(e

(9
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(6)

Distinguish between fixed and flexible
exchange rates. Explain how the
equilibrium rate of exchange is
determined under flexible exchange
rate system. 4+6=10

&awaﬁﬁﬁwwwm«w Nl
T4 A RN W WY @ oy
e 1 =, I F

Analyze the effects of an import tariff
under partial equilibrium analysis,

SRR ST IRES SR WE srepg
Rema 111

Explain the rationale of a protectionist
commercial policy in developing
countries.

TR CPPRRS RTERM Iw. Sfes

ez 0 401

Explain the European Monetary System
and its role in stabilizing exchange rate.
How did it lead to the creation of
the Euro? Evaluate its success and

challgenges. : ‘ - 2+3+2+3=10
AT Y@ AR I IV W 3 @i
fffm 2@ &3 = S RRer ww
TP L@ mﬁa@kﬁmmw
Wa—:www;

( Continhued )

7).

(h) State the main features of multinational

enterprises. Explain the role of multi-
national enterprises in international

trade. » 5+5=10

Temfos ARBFPRE T CREPTR TS |
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PRAFAN :

* %k

AQ5—7000/571 3 (Sem-6/CBCS) ECO HE 2




